ActiveObject

T

f1 = FactorylnstrumentationToLog('f1")
fl.start_at(fl.outer_state)

Factory logging /
f2 = FactorylnstrumentationToLog('f2")
[F ‘ f2.start_at(f2.inner_state)
F1
live spy
live trace

trace_callback(self, trace)
spy_callback(self, spy)

start_at(self, ...)

-

outer_state

entry /

Hook /

self.scribble("hello from outer_state")
self.subscribe(Event(signal=signals.BROADCAST))

self.scribble("run some code, but don't transition™)
Send_Broadcast /
self.publish(Event(signal=signals. BROADCAST)

inner_state

BROADCAST /

self.scribble("received broadcast") /
exit /

self.scribble("exiting the outer_state") entry /

chart.scribble('init") exit /

.

self.scribble("hello from inner_state")

self.scribble("exiting inner_state")

Reset / self.scribble("resetting the chart”)

F2

/ inner_state

entry /
self.scribble("hello from new inner_state")

exit /
self.scribble("exiting new inner_state")

.

Programming by difference, AN
Everything in F2 is exactly the same as
F1, except we give it a new inner_state

AN

| don't know how to show this in

UML, so | write the new inner_state within
the "decomposition hiding" glyph to

show the the reset of the statechart is
described elsewhere (superclass)




